Motor Mechanic Vehicle Level 1

Jae

A) Cast iron / @dIdi qrer
B) Mild steel / H{g L¥UId

C) Alloy steel / THHYTT AT
D) Wrought iron / dSJ qrar

Q 2) What stroke of a 4-stroke cycle is shown in figure given below? / i e T s T 4 w BISEENED
ﬁq kil m feamar T g 2

A) Suction stroke / T E:I?

B) Compression stroke | IR W
C) Power stroke / YTdX w

D) Exhaust stroke / Q”\_FIVW Ej?ﬁ

Q 3) Which of these is connected at one end of the crankshaft? / o H A 5 Hpamwe & A \_rh?:T SITdr % ?

A) Piston / U
B) Connecting rod / PGS
C) Camshaft /

D) Flywheel/ TS &Id
Q 4) The calorific value of petrol is about ................. /UCA BT ST AT TTHT . .. ........ g |

A) 457/ kg /45 S/ foar

B) 45 kJ / kg / 45 Toboel/ foum
C) 45 MJ / kg / 45 THSY/ fo3m
D) 450 MJ / kg / 450 THeY/ fpam

Q 5) What is the type of supercharger shown in figure given below? / i 3 # ford IR &1 gcmn\—:f
feamar Mg 2

=

t;$-— & =0

N

A) Centrifugal type / 30PH5] THR &I
B) Root s type / =€ UhR DI
C) Vane type / I UBR &I

D) None of these / ST 9 B el

Q6) Name four types of roller bearings shown below correctly from left to right. / T fe@U IR ISR &
AR BT 914 9 W < el 5 H H Al |

L




A) Barrel; Tapered; Cylinderical; Needle / éw %QT ﬁlﬁ'@;lg

B) Cylindrical; Tapered; Barrel, Needle/ﬁlﬁm B
C) Cylindrical; Tapered; Needle; Barrel / ﬁlﬁ‘f@ﬁ é'CIT :ﬁﬁ éwr
D) Barrel; Tapered; Needle; Cylindrical / éw, éTR, =ﬂ3€«r, ﬁlﬁﬂ%ﬁ

Q 7) Which statement is NOT true about petroil system of lubrication? / ﬂ@aﬂﬂ:{ & ﬂ?ﬂ%ﬁ Ren s arRd
B T B T T 2

A) It is used in 2-stroke petrol engines like scooters and motor cycles / g ¥PCX 3R AR Hlii?hﬂ S 2 %C:IGb
USIe S5 H e BT S |

B) Lubricating oil is mixed with petrol / W‘[ 3HiTd & ﬁra‘la & Y e € |

C) Oil mixed with petrol is kept 2% to 3% /ﬁ_@ﬂ & 1Y 2% @ 3% H1gd fHam Sar % |

D) A separate oil pump is used / T JYh I YU HTYAIT BT § |

A) High pressure and low pressure / 3= ald RFgTE
B) Pressure and vacuum / 1§

C) Pump and gravity / U0 Gﬁ?y
D) Splash and pressure / Bier HE
Q9) In the 5S concept, the first S is ................. / 5TH BT IYRT ﬁm@%

A) Sort / BT
B) Set in order / P8 H ST
C) Shine / TH®HTT

D) Standardize / ATF®HIGHd HIAT

Q 10) Which type of wear of cylinder liner takes place due to burning of heavy fuel oil in combustion space? /

T RIM B HRY AT H S84 & ol & HRUT fhd bR BT Rifeie’ dg-R # fRrae e g 2

A) Friction /oy

B) Corrosion / &d

C) Abrasion /

D) Adhesion / 3T

Q 11) The principle of working of radiator in cooling system is to ............. / wRftaA gormet # TR o1 HAGRY
Rsid®ne

A) Act as a reservoir for water/ﬁ%%ﬁ%%@ﬁﬁﬁ% |

B) Cause heat flow by convection currents / a8 YRT R IS &1 YdTg BIaTg |

C) Spread out hot water over a large area / T o a@ PER:] Tefd % |

D) Increase air speed as it flows over hot surface / Al ! T FeTaT § 1T U8 T Ude W Ualfed 8l § |

Q 12) What is likely to happen if the thermostat valve in cooling system remains closed? / gfe, y=fia= vome o
YARCT JTed §& 31 § dl o1 9 &I GHTGT Il &2

A) Overheating of engine / $91- T Jfre T T

B) Rough idling / X% TS
C) Slow warming of engine / $91- b1 efiR-efR e B

D) Difficulty in starting the engine / 391 & ?ﬂq@ﬁ o Hfgs
Q 13) What is the function of gudgeon pin? / TSI LSk Eb—ITfEﬁﬂT % ?

A) To act as stiffener / R & TuH &1 BT

B) To support piston head / e 88 &1 WeRI &1

C) To connect piston and connecting rod / e IR PARTIIS T \_rh?fﬂ

D) To connect connecting rod to crankshaft / FHAGIT NS P HHAIE T th:ﬂ

Q 14) Which part of piston acts as bea_ring for connecting rod side thrust? / AS P TP & U B! ol & [
R 1 19 W1 U SR & &0 & HRf Rl 8 2

A) Reinforcing ribs / EF‘W Ra
B) Piston barrel / e &R
C) Piston gudgeon / e /o



D) Piston skirt / e nd

Q 15) In a 4- stroke engine, energy is being consumed by the engine during the strokes..... / 4 w oA Eja;
......... & GRM 39 gRT Soll BT JUA T @ |

A) Exhaust, Intake, Power / Q‘GlV'IE, m , ardr

B) Intake, Compression, Exhaust / 3:@33 , S , Q”\_rlv'IE
C) Compression, Power, Exhaust / HUYH ,ardy, QTITFIVW
D) Intake, Compression, Power / 3_"@37 s HETE , gIa}

Q 16) A timing belt links these two components so that valves are in sync with pistons. / €IS T deC 3 &l 9ed!
@I SISl § A1 aTed foves & 9 - §Y |

A) Flywheel and camshaft / tﬁﬂg O_Sﬁa 3R HHIMIE

B) Crankshaft and camshaft / S MU 3R HHIMIE

C) Cylinder head and camshaft / fYfeier 7S 3R HHRT
D) Cyllinder head and crankshaft / ISR %_6' 3R M

Q 17) Which among these is NOT a probable cause of low oil pressure? / g 7 o sifga IeR & g HEkal
HHTfad PRUI TR & 2

A) Worn out bearing / for gl ST

B) Oil dilution or foaming / g GRCANEIEIN
C) Engine overheating / S99 &1 3 Tlflfﬂ:ﬂ
D) Faulty ignition / ?ﬁmlﬂf ESSNE]

Q 18) How the power of an engine is affected by high back pressure in exhaust system? / 5T THR & TSl
e I 3= <a1d o P UTR GHIRIA BN 8 2

A) Power is increased / UTAR dgdl % |

B) Power is decreased / UTAR Ycdl gl

C) There is no effect on power / UTdX UX ?ﬁé UG ATg] gsdi % I

D) Power increases initially and then decreases / 3TRH A UTR dedl % 3R AP dlig YUcdl % I

Q 19) In internal combustion engine, the term which describes the ideal air to fuel ratio is ... / KIIRC Ggdgu
H, 98 U Sl S4 3UTd & U 3A1aT Iy ) gardl § BT g|

A) Pneumatic point / qﬁﬁa? UV'IE_C'
B) Hydraulic point /

C) Hydrodynamic point / BE@@WW
D) Stoichiometric point / @ﬁ;&hﬂw gise

Q 20) The purpose of catalytic converter is to reduce ............ / IR URadH BT G%Qq ........ HH HIAT % |

A) Fuel consumption / EF‘EF‘T CARCLMH)

B) Risk of fire / 37T T &1 SIRGH

C) Toxic exhaust gases / Sedtar 1 Rear
D) Engine wear / $oI- CANBRIC

Q 21) Which of these is NOT related to compression ignition engine? / 9 & P HRIRH UsaeT e
REIREEEER

A) Fuel pump / & ug
B) Fuel injector / WcT
C) Governor /

D) Carburetor / m

Q 22) Power impulses from the engine are smoothened by ......... /S AT IR Bl ... ... .. gRT
I ST |

A) Governor / IR
B) Crankshaft / 5@ STUC
C) Gearbox / TR TRy

D) Flywheel / T8 &id
Q 23) Scavenging is done to .......... / THAfST & fog grar % |



A) Ensure sufficient supply of fresh air in engine cylinder / § fferex o aror gar &t yafe 31Tq\ﬁ gﬁf\%
PRAT

B) Reduce friction / Yoy §

C) Ensure sufficient oil pressure / T ST G ﬁﬁ'@ﬁ DAl

D) Increase mechanical efficiency / TifAd G&dl ST

Q 24) How should the cylinder head nuts be tightened? / el 38 A Bl Y HIAT Bl

A) Series sequence / ?ﬁﬁ\_ﬂm

B) Mixed sequence / IEIECRSIER:]

C) Parallel sequence / FHMTR diehd

D) Cross-wise sequence from centre / FEY AT ESiE|

Q 25) In two-stroke engine, ports are provided at ............ /2 w ST A O T fearsmarg |

A) Piston / e

B) Cylinder wall / RifeieR ara
C) Piston rings / o et

D) Cylinder head / ffeiex g

Q 26) The speed of camshaft in a four-stroke engine is ............... /4 chw ek FATRE B grar

gl

A) Half that of crankshaft / SHDHMYE BT T

B) Same as that of crankshaft / SHHMIC S JAH

C) Double that of crankshaft / HHIMIE & a":lfﬂ

D) Four times that of crankshaft / HHMIE BT AR AT

Q 27) In an engine, where is the oil sump located? / §oI-1 T 3{fgdt T FHef g g ?

A) At bottom of crankcase / HHpY P A

B) At top of cylinder block / ffeier st & MR

C) In a separate unit away from the crankcase / HHHY A PRCd gﬁ_c’ L}
D) Adjacent to the oil filter / 3Hiad fheex & A

Q 28) What will happen if cam lobe is worn out? / ey ae forg ST 1 &1 BT 2

A) Volumetric efficiency of engine is decreased / SoI- DI ST gerd gedt g
B) Valve opening height will increase / dled & T @t ﬁ'l_ﬁt aﬁ_(ﬁ % |

C) Valve clearance will decrease / dled FAG HH Bl % |

D) Engine life will be decreased / ESG P g gedt % I

Q 29) Which instrument is used to check taper and ovality of crankshaft journal? / PP Tl b TR 3R
S(SThR B B Siid 3 o o oo Segile o1 ya eI 8 2

A) Inside caliper / gTHISS PR
B) Micrometer /

C) Bore gauge / RIS

D) Feeler gauge / BIR IS

Q 30) Identlfy the tool marked A in figure given below. /= 3 H fqu T A Q‘Hﬁq_&'ﬂﬁ I A

A) Piston ring tester / e TR

B) Piston ring compressor / e RT HURR
C) Piston ring expander / fOe= R Qaﬂ'a?ﬁ
D) Piston ring grinder / e R DIERR

Q 31) In the valve timing diagram (Figure given below) of 4-stroke petrol engine, valve overlap = ............ /4

Wb eIl S & dTed T3IAT ST (1 feu 7Tu 3mvg # ) H aTed 3ifdedmua HRAd1g...............



~
s
Sl

e

A) 21 degrees / 21 et
B) 30 degrees / 30 &
C) 35 degrees / 35 &
D) 50 degrees / 50 e

Q 32) Excessive voltage drop between battery and starter motor is due to ........ / S} IR TR AR & dfig
R dieeet uTd S BRUBIATE |

A) Low resistance in motor circuit / Tex Yfdhe o g gfa_iy
B) High resistance in motor circuit / HreR fdbe # 3= uferkiy
C) Low resistance in control circuit / Wgﬂa giche § fAg ufeRty
D) High resistance in control circuit / 39_@?1' fhe ¥ 3= ufeRly

Q 33) What is the type of nozzle shown in figure given below?/ g %Q Y 3G | FIoTel BT BT UPR
TR

5&
S

]

R

ﬁ%\

.

A) Single hole / THd &G

B) Pintle nozzle / fUea A

C) Multiple hole / 98 B¢

D) Pintaux nozzle / fUciay Ao

Q 34) What is the type of engine shown in figure given below? /= 3R T o UHR &1 g feaman man % ?

A) In-line engine / -1 SoI
B) V - engine / ClESE|

() Radial engine / AT §o11
D) Opposed engine / 3T o

Q 35) In the figure of engine block what isA?/REAARE QWQ@?WﬁAW%?A

A) Crankshaft mounting / M AT
B) Camshaft mounting / FHMTE AT

C) Water pump mounting / 9Tex UJ e
D) Oil filter mounting / 3Higd fleer ardfén

fagmma: ... AT |

A) Smi-floating / 318 TRIfeT

B) Fully-floating / GOf TR

C) Three-quarter floating / iG] Eﬁ"’JT'%F AT

D) Fixed on both piston and connecting rod end / fOReT 3IR BT S P 3fd & I TR T gIaT % |

Q 37) The noise of exhaust gas of an engine is reduced by ..................... / &S & TRINRE THTAR..........



Y Tare |

A) Inlet manifold / $TdE A-IhICS
B) Tail pipe / SRR

C) Muffler / HH MR

D) Exhaust pipe / TEIRE U18y

Q 38) For lubrication system of diesel engine, pressure relief valve is provided at .../ EEGESEED ?{@Wﬁ
RendriftwaE.. . ... R AT A@g |

A) Inlet port of oil pump / 3H{Te Uy &1 3:@_6 e

B) Outlet port of oil pump / 31T UY T 33cale are

C) Main oil gallery / T 3ffad et

D) Lubrication oil filter inlet / F"I@%’[ 3fiad flheer cie

Q 39) What goes light on dashboard (as shown below) indicate? / 3TEE R NIES (@NT T feamar man % ) T
ST A 82

A) Loss of traction on one or more tyres / b T SYTGT TRRI R ET?'Q'IT‘T Cal ET&T

B) It s time for an oil change / 3H[ad Jaa- &1 IHg

C) A tyre has low pressure or something wrong with sensor / IR =2 K | % IR Y P TIEEI?’:’}[ % |
D) There is an electrical failure / ﬁ?{ﬂﬁ DI TR R |

Q 40) The belts which drives alternator etc. should be replaced / 9% e S 3eeRex &I gTaR T %, 3fe oI
Hq Fea d1ge

A) Every time vehicle is serviced / A% TR 59 dlg-d GARIGR] Eb_ﬂé S |
B) During oil change / 1d &I gaad 99a

C) When belt looks frayed and cracked / SI§ oT SRAT 3R Wel feas e |
D) When check engine light illuminates / 5T P ol AR ST &Y |

DA, ... T USaTg |

A) Pressure / QId

B) Temperature / dTUHTA

C) Pressure and temperature both / GId 3R 9199 gAY
D) Torque /

Q 42) What is the type of gearbox shown in figure given below? / I o I ford TR &1 TR Sl feaman
TR ?

A) Sliding mesh gearbox / AR AR R s
B) Constant mesh gearbox / o A feRaTe
C) Synchromesh gearbox / R R sfeq

D) Automatic gearbox / 3fcIATe® R dTed

Q 43) The centraI%gear of an epicyclic gearbox is called................ / UISfaas R aie & W R ®r. ..
......... HEAE |

A) Ring gear / R iR

B) Planet gear / e R
C) Sun gear / I R

D) Internal gear / gaAd R

Q 44) What is shown in figure given below is / e e o 1 feaman %



A) Torque converter / W‘Q[UTW
B) Torque inverter / SCITU[ Zqc]

C) Torque booster / Wf Y
D) Torque reducer / W‘{UTW

Q 45) A four-wheel drive has ............. /IR URRT & [SIEE! g grar %

A) No live axle /ﬁéwwqﬁ
B) One live axle / Uch Algd TR
C) Two live axles / & @39 T
D) One dead axle / Udh S TR

Q 46) Which of these is NOT a part of driving axle unit? / 7 H 17 ST3fdT Tad gfe &1 uré gl § 2

A) Propeller shaft / TTUER XM
B) Final drive / TIgd gI%d

C) Differential / ST =T

D) Half shafts / BTt MU

Q 47) A six-cylinder engine with multi point fuel inject (MPFI) will have .......... / §g WIgc WA ESEH TWH at
T 3{T%) o O e A goHd . .......... Hen |

A) One injector / Tch _EZ@FRT

B) Three injectors / GIRESESS
C) Six injectors / B8 golaeR

D) Twelve injectors / §RG ET;}TET

Q 48) The type of spring shown in figure given below absorbs shocks by ........... /= femm e s H 3
THRBTIBAT. ... .. I 3T B TN BRATS |

|
gund

A) Tension / d-1d
B) Compression / ddteq
C) Twisting / QB_"I
D) Bending / §8

Q 49) The type of spring shown in figure given below absorbs shocks by ........... /= fe@m 7Y 3e # 59
THR BT, ... T ST BT ARG HRAT @ |

A) Tension / d-1d
B) Compression / .
C) Twisting / ¥+
D) Bending / §81

Q 50) Compared with radial-ply tyre, one advantage of cross-ply tyre is ......... /fETa Wﬂ_sc TR &1 LSEL e
FT-WTS TR &1 TP A1H I8 81l §

A) Longer life / SCil g

B) Lower rolling resistance / R LRI IRIL]

C) Smoother ride at lower speeds / FaR TR gITH =Te]

D) Full width of tread held on road when vehicle is cornering / SId dlg- HR W Hsdl 8 1 TR 30 IR

YT ) ) eSS & Y TSh Wl ¢ |




Q 51) The type of wheel which cannot be used with a tubeless tyre is ........ / UPHR & Uy &I
Y TR S 1Y YT T8} foban ST qepa &

A) Disc wheel /e &a
B) Wire wheel / IR @T’T
C) Split wheel / {&eTe &I
D) Light alloy wheel / 8T 0¥ &7 sicl

Q 52) An over-inflated tyre will wear the tread most near the ........ / JTIH AT HR TR H I & BRI qaq
3% ferdrae R g

A) Edges / ICERIN

B) Corners /

C) Outside / STEX & 3R
D) Centre / F=d

Q 53) The shock absorbers used on modern cars operate on the principle of .... /3T W HRIA U AT
SRS ... .. Rrgid R P e g |

A) Pneumatic / ?’Iﬁﬁfﬁ

B) Hydraulic /
C) Mechanical linkage / Abfod fefbst
D) Centrifugal force / 3T A

Q 54) Which of these is NOT a part of steering system? / 9 & 319 Wi Res &1 4 q_sﬁ% ?

A) Steering gear / i iR

B) Control arm / m e

C) Rack and pinion / & 3R fafga
D) Tie rod / ‘c’l‘s‘ s

Q 55) The ability of a vehicle to travel a curved path is called ............ / AT P Gh I W T DI ATl B
......... FEAE |

A) Cornering / HHRT
B) Road holding / 18 BIfeET

C) Road isolation /S SR
D) Road inclusion / RS w:{

Q 56) What purpose is served by suspension system of a vehicle? / dlg- & qUYHE Req &1 G%Qq T grar
?

A) Handling / %@%‘I"T

B) Safe braking / GRI&d S T

C) Passenger comfort / AT} BT 3R
D) All of these / T T}

Q 57) Braking is produced by the frictional effect between the brake drum and ... / ECg SH AR G|

UNURT UHT A Sh T @ |

A) Wheel cylinder pistons / wid Rifefer fUes
B) Brake shoes | NH RIS

C) Wheel studs / CARESS]
D) Wheel rim / CANARE]

Q 58) Which statement is true? / ?ﬁ:r I hYd Jd % ?

A) LPG is propoane; CNG is methane /Qa'cﬁ\_:ﬁ o ; ?ﬁ'@ﬁﬁ EiC ] EﬁT‘IT % |
B) LPG is methane; CNG is propane /Qﬂ"ﬂTYﬁ i ; ?ﬂ'Q:lTrﬂ i Eﬁ?ﬂ % |
C) LPG and CNG both are propane / Qﬁtﬁﬁﬁ GﬁT ?ﬁ'q:ﬁﬁ ?a:ﬁ o Eﬁ?f % |
D) LPG and CNG both are methane /Q?I'rﬂﬁﬂ 3R ?ﬂ'@\?ﬁ a:h =g Epl?f % |

Q 59) Which statement is NOT true about CNG? / TT-Tsl & IR & I T HY- T 781 8 2

A) CNG is more expensive than gasoline / ﬁ@?ﬁ:{ & 3 &rn ?ﬁ'Q:lTrﬂ STGT He M % |
B) CNG is more eco-friendly than gasoline / TRl & sden ool sarer gataRor SRCE gl



C) CNG makes engine cleaner and more efficient / ?ﬁ'Q:lGﬁ_g\_Yl'_‘l DI TTH 3R e T8 AT |
D) CNG has higher Octane level / STl BT 3{Tae- TR ST BT S |

Q 60) All the lights in the brake light circuit illuminate except one. The most likely cause is / ECg NIEM gfhe o
T} ST STl & , Hacl Th Pl BISHR | Tg GHIAd PRI 3

A) An open in the brake switch / & Rqa § a1 g1

B) A closed brake switch / §¢ 3 g

C) A fused bulb / R[S ded

D) Excessive resistance in the circuit / ihe & srafde uferiy

Q 61) The average octane rating of regular grade gasoline is.............. / Q‘q!(_'ﬂ TS AN BT 3N e I .
A) 50 - 80

B) 93 - 94

C) 100 - 120

D) 120 - 140

Q 62) What is the type of engine shown in figure given below? /= 3RE T oy YR o1 Soi femran a1 g9

A) Radial engine / sgd ESGI
B) Inline engine / SIS $9I1

C) Vee engine /aY EREI
D) Horizontally opposed engine / &faol =0 ¥ fausia goi

Q 63) Which bearing has higher load carrying capacity - ball bearing or roller bearing? / frg a4 3= UR
TG HA P &HAI BN g - it AR TR SR

A) Ball bearing has higher load carrying capacity than roller bearing / ST SR T AR AR & ST IR
YR G611 GHAT BN G |

B) Roller bearing has higher load carrying capacity than ball bearing / / IR ST H afd ST & SUem
AR YR I B GHAT SN ¢ |

C) Both have same load carrying capacity / S SR BT UR T8 P & FHH BIait % |

D) There is no siginificant difference in their load carrying capacity / HR dg- P e | ﬁ"i‘ oo iR BRI

BIg |
Q 64) GPSiS & vovvvveee. joidiem. . gl

A) Satellite WordStation / aéﬁlg? TJSLYH
B) Satellite System / JeaTge RieH

C) Satellite Signal / §eaTge RFFa

D) Satellite Solution / §CTATSE I

Q 65) GPS uses 24 satellites in ............. Jofidieg ... T 24 YeATSC BT IYTIRT HRAT S |

A) 9 Orbits / 9 HET3
B) 8 Orbits / 8 B3
C) 7 Orbits / 7 B3
D) 6 Orbits / 6 BETA

Q 66) When a refrigerant undergoes sudden expansion to a much lower pressure, it causes / S/ PRIGED §gd g
T TR 3D AR Bl 8, SYBT HRUI BT &

A) Heating effect / I gUG
B) Cooling effect / FRMa THTE
C) No effect / aﬁ‘s‘ JHIq :TgT

D) Little effect / H UHId

Q 67) What main precaution should be taken while driving through water? / 91 & gled CRGRSEREED| s
YT SR AT 2



A) Keep acceleration high / <Xl Sl G TMRT |

B) Keep acceleration low / «dxUl IGCESCRI %rri%”q |

C) Don t let water enter the silencer / T &l m Hyaw Hﬁ CC] a:IT ?IT%Q |
D) Use Wiper/mﬁmﬁ |

Q 68) A clutch plate wears when ............. / T Wie ad forgar % SEJ

A) Clutch disc and flywheel are spinning at different speeds / &<l &P iRk WTS‘ @FT IRERIGACES gﬁlﬁ % |
B) Engine and transmission are spinning at same speed / $oI- 3R TRYUT G4 TH T TR ‘szﬁ gl

C) Engine is idling / ETSFT fAfspg Eﬁ?ﬂ %

D) At high speeds when the vehicle is in top gear / SId dlg MR A AT AR |

Q 69) Bleeding of brakes means ............... / S & SATST BT ST % -

A) Removal of brake fluid / N TR B gerdl % I

B) Removal of air from brake lines / EEg NIEE] I gdl gcldl % |
C) Flushing of brake lines with water / ici ) W NIEREIKERE
D) Lubricating brake lines / ECANIES A Wﬂq

Q 70) An oily floor should be cleaned by A\ foret aefl wef 1 GRI 9T% HAT1 A1 |

A) Putting saw dust or sand\T S TTd ST B

B) Cotton waste\@Ie a%

C) Putting water\OT! 816 B

D) Spraying carbon dioxide \TE TEIHES & B

Q 71) First aid includes help to the victim as well as treatment of the injury. \ T fafeear o
ifgd e &t TR SR Tic B fafde T afRiferd gid ol

A) Mental \AHRIS
B) Financial\37f&
C) Both mental and financial \ AFRI® 3R e At

D) Economical\
Q 72) What is the key targets of 58 2\ 53 &7 T A& T g2

A) Workplace morale and efficiency\ PRI R TG R BRI
B) Quality management\T[UTa<IT J&Yf

C) Increase production\3 TG 2| Q’@

D) All of these\d T+

Q 73) Which one of the following is a four-wheeled vehicle used for material handling ? \Fofafead 9 DT
T IR-UfdT 16 § foraesT T nsht ware & forg fosan S g2

A) Industrial fork-lift\ 3TN Hidh-forme
B) Single-girder crane\RATE TR

C) Traveling wall crane\aaﬁ'i"'l CISKER!

D) Pillar gib crane\TUeR fore e

Q 74) Petrol engine works on .\ﬂ?ﬁa’ gol R B Bl %’l

A) Constant volume cycle\@ﬁ I b

B) Constant pressure cycle\@ﬂ HEEED

C) Constant temperature cycle\ fRR aa = o

D) Constant temperature and pressure cycle\ fRR " .CHEErD

Q 75) Petrol engine works on which of the following cycle? \ﬁ'@a oM FEfafad § O fea T W B BT

?

A) Diesel cycle\@ﬁ\_ffa qh
B) Otto cycle\3{Te! Ish

C) Carnot cycle\ﬁb—f'_‘ﬁﬂw
D) Joule cycle\S[cl dsh

Q 76) p-v diagram stands for- \ p-v STIIH ¥ ST &-



A) Pressure volume diagram\asl X EI:IIF"IJ:[ SIAUH
B) Piston valve diagram\ﬁﬁ dled STIUTH
C) Piston volume diagram\ﬁﬁ diegH STUUH

D) None of these\§TH & aﬁ‘s‘ 8!

Q 77) Exhaust valve face angle is generally \UIT: TOIRE dTed U &1 10T gIar %l

A) 450
B) 30°
C) 60°
D) 90°

Q 78) Which of the following method is used in repair of cylinder? \ Jcier & I # fafaled o 9 ey
fafdr &1 o foam S &2

A) Cylinder re—boring\m Cil g: ClIRYl

B) Cylinder grinding\m D URIST

C) Cylinder lapping and honning\ RyaveR ) afti ek Eﬁﬁ"’[
D) All of these\d T+

Q 79) The body of the engine is known as \So Pl Sial B aﬁ?f %1

A) Cylinder block\RIcIUER sl
B) Cylinder head RIQUER 88

C) Piston\fUeA

D) Combustion Chamber\cg- P&

Q 80) Which problem occurs in a taper wear? \ UR fargTde & ST gHwT 317cht 82

A) Making the cylinder bore cone shaped\m PTIR D P HTHR BT & STl %
B) Deviation of the cylinder bore from circularitym ERRINIER A E SRSl ?
C) Making the cylinder bore I- shaped \ Raver IR \’rﬂ_sf- HIDHR BT & STdl %

D) Making the cylinder bore T- shaped\mm TR - PR &7 57 ST 8

Q 81) The main function of intake manifold is that it A W AfwIeE o1 qq CaK qg % &
I

A) Distributes intake air equally to the cylinders\S7c® TIR B IR Rifere A faafka srarg
B) Cools the intake air to a suitable temperature\Udh JUGdd dTTHT TR W TR I ST BT %
C) reduces intake noise\g'_‘l%a; R BT HH Bl %

D) Promotes the mixture of air and fuel\dlJ AR gﬂ:f & o a1 deldl odr %

Q 82) The specific gravity of petrol is .\ﬁ'@a CARGIE Tod %l

A)0.75
B) 0.85
C) 0.95
D) 1.25

Q 83) What happens in the float chamber during the idling action of the fuel pump?\_‘f%l:f qg & 3 ES) o TR

P R il IR § 1 g1 82

A) It stays ful\dg HRT gl ?

B) It remains empty\d& Qe edl %

Q) It is partly filled\Tg 3P HRT AT §
D) None of these\%qff q ﬁ :l_ﬁpf

Q 84) The float circuit is used in the carburettor .\Elv—l@?? T tefie Gfde o
it ERISIGI

A) To maintain the correct level of fuel in the float chamber\UGITC R H _sc?Ff > E’Eﬁ NEREAERIDERCEED ﬁm
B) To Store Fuel Steam\éﬂ‘”‘f P HIY P TR B & ﬁ‘l'q

C) To supply a mixture of air and fuel\gdl 3R 'st?Fl & o &y F’Tﬂg AP ﬁm

D) To stop a mixture of air and fuel\gdT 3R é?-f'_‘f EAEENEARIEEE: ﬁ”l'q

Q 85) The rating of C.I. engine fuel (Diesel) is given by A ?ﬁ\?rﬂg ETYFTEC?FT (_GPI\_SIFT) P AET BHY
R Smar g



A) Cetane number\Hie TR

B) Octane number\ 3 TR

C) Performance number\ IR AT TR
D) Centene number\ e TRR

Q 86) The spark plug is fitted on AT T R ftpe fpar Srar g1
A) Cylinder head RIIUSR 88

B) Piston\
C) Crankcase\ :
D) rocker cover\R[h hdX

Q 87) Which of the following is also called as capacitor?\[HIRId T frd Fufer i wed 82

A) Condenser\ @S UY
B) Alternator\3eeI-ex

C) Distributor\[ddR&®
D) Contact breaker\®ICaC SHR

Q 88) Which one of the following parts of diesel engine fuel tank is responsible for minimizing the slushing of

fuel due to movement inside the tank? \@Gﬁ%@qéwﬁmﬁmﬁ@rﬁqmuﬁ%$ 3R ]137}[3
P PRUISYT P IBA DI HH B B

A) Baffles\ ST e

B) Filler cap\ﬁb_cﬁ &Y
C) Filler neck\fheR A%
D) Drain plug\gq T

Q 89) Which of the following is a type of lubricants?\[A% & q DI T WEP BT UHR 82

A) Solid lubricant\3 19 TP

B) Semi- solid lubricant\3f, 319 WgH
() Liquid lubricant\dRd g

D) All of these\d T+

Q 90) The purpose of thermostat is to keep the engine \ YHfRe BT B%Qq o @I
RECE RGN

A) It brings the engine normal temperature quickly\SoT- P FIYRTUT ATIHH TR @Rd ATl %
B) Cool\&'8T
C) Warm\¥Y S piea

D) Hot\TTH
Q 91) A pressure cap contains a AURR U H Uh Eﬁ?ﬂ %I

A) Pressure valve\U=R aled

B) Thermostat valve\ YRR dled

C) Blow- off valve\&I-3{TH dTed

D) Pressure and vacuum valve \OZR 3R aaqq dled

Q 92) The capacity of a battery is usually expressed in terms of RY-roika| &Hdr AR TR
i o ogad Bt ol B |

A) Ampere-hours\QIEﬂW-Gm
B) Volts\
C) Amperes\m

D) Watt\dlc

Q 93) In starting of diesel engine by electric starting, what is used to supply power to the starter motor?\ﬁﬁfﬁﬁ

I gRT SIS Soi Bl WIS H, WIeR AIeR Dl UTdR TS B & o1 fopdepT UTNT fordT SITa g2

A) Battery\aail
B) Dynamo\
C) Generator\

D) Rectifier\NfaeHIaR

Q 94) The function of positive crankcase ventilation (PCV) system is that it \uifsifed v



dfearzm ([ fidRR) vt &1 Hrf U8 B fb ug |
A) Reu%ns blow-by gases from the crankcase to the intake system \hHHT I o ey I sal-a It @Y

B) Promotes combustion by creating a swirling movement in the air- fuel mixture\GaT-3¢ 30T T TH fafef
Tgte SR g8 &I 9TaT 3T §

C) Mix fuel with ir\8dT P I1Y 34 FaTaT 8

D) Feed blow-by gases to the exhaust manifold\ T A-IHITS ! Sal-a19 7Y B8 Bl §

Q 95) A governor is a .\WTITFI'\’ %1
A) Speed -sensitive device\Tts -Hfdfea feargy

B) Temperature-sensitive device\ TR fYfeq fearsg

C) Pressure -sensitive device\URR -Tfyfeg %ﬂ@

D) Vacuum -sensitive device\ JagH -Hffed fEarsy

Q 96) A llighting circuit includes two headlamps. What is the effect on the illumination if the filament of right-

hand headlamp is broken?\Wﬂﬂﬁﬁﬁﬁ%@%@@ﬁ%ﬂ%?ﬁﬂﬂmﬁ%@ﬁmﬁﬁmﬁ?gwa
W U R AT YH

A) Left hand lamps - Normal and right hand lamps - No light\&TT g1 dTell Q- AT qUT g BT 9T -
IS TBI T

B) Left hand lamps - No light and right hand lamps - No light\STT BT aTelT - B UHT 6l auT el 81y
TS - IS TbTR !

C) Left hand lamps - Dim and right-hand lamps-Dim\STd g1 dTel - NERIGH] S gTy ara étq-g%ﬂ
D) Left hand lamps - Dim and right hand lamps - Brighter than normal\&T4 BT dTell A ‘{{ﬂ?ﬂ ayr E{rﬁr Bl
Tl oFY-FTHe H 3 THPHAR

Q 97) Where is the headlight dimming switch normally mounted in modern cars?\{THI-d: WW HRIH
Tearse f$i Raa &1 wel IR e STl 2

A) Steering column\ TR HIaH
B) Side panel\TTES U7d

C) Floor board\ AR &8

D) Dashboard\SYEIS

Q 98) GPS is based on which of the following mathematical principle?\ﬁﬂm Frafafaa @ ¥ forg Tt
Rrsid W setfa 2

A) Trilateration\m
B) Addition\SiI8

C) Multiplication\T[UTT

D) Division\HIT

Q 99) The Car Shield Telematics Security System allow you to remotely unlock your car doors using which
wireless technology?\ BR X1eE AR JR&M YU MUY T aERAT qdh-i1dh BT SUANT PR ST
PR b GRATGN Bl X TU Y 3d[Ph DA B A ©

A) Bluetooth\sgg Y

B) GPS\

C)3G\3 SHt

D) Infrared blasting\s_'q?ﬁ_&' SATRET

Q100)The ~~ sensor, senses the movement of the throttle plate so that the mixture flow can be
adjusted for engine speed and acceleration.\ @W, Yfed @e P a1 B Heqd ddl % Gliig
o 1 T SR RO & ot fAreior yarg &t 9|

A) Throttle position\%ﬁ?ﬂ BIEINE]
B) Manifold pressure\'aﬁ'qﬁ?&'; TSR
C) Camshaft position\%‘zl'Q'ITfh_:r BIEINE]

D) Knock\Ald

Q 101) HEUI stands for \HEUI ¥ 3ifYumg |

A) Hydraulically actuated electronically controlled unit injector \ eﬁsﬁﬁwﬁ QEQ%_S' sﬁaﬁﬁw 39_9'-1@
B) High actuated electronically controlled unit injector \ E'I_E: QEEQ%@ ﬁm G'bg S qﬁ_d SoldeR




C) Hydraulically actuated electronically controlled unit intake \ Eﬁf’gﬁﬁﬁ Qaﬂ@g sﬁazjﬁwﬁ TQPI?S qﬁl—C’
D) High actuated electronically controlled unit inlet\8TS W@E’ sﬁazjﬁw 37_@?6' qﬁ? B

Q 102) What is the advantage of gaseous fuel ? \TRfig YT BT T ATH g7

A) It can mix easily with air\gﬁ ST T Bdl o e g %

B) It can be stored easily\@ ST I W%H fosar S ghan %

C) It can displace more air from the engine\dg S99 Y 31fere ga1 & fawuTfud R bl %
D) All of these\d T+

Q 103) Major disadvantage of LPG as fuel in automobiles is A m@ i %‘F-F‘f HEUH Eﬂtﬁﬁﬁ
T &1 S8 IHAH i

A) Reduction in life of englne\gﬁl:f *® NIEED H ot

B) Less power compared to gasolme\ﬁ@?ﬂ:{ Eil Skl T &HH TR

C) Reduction in life of engine and Less power compared to gasoline both\SGl- & ARE | B 3R et @t
T H HH TR g

D) Neither Reduction in life of engine nor Less power compared to gasoline\- HESH & NIERD At iR A
T BT g & HH IR

Q 104) The ratio of the brake power to the indicated power is called A\ TTaR 3R 3'%% qiaR &
TP Pedal

A) Mechanical efficiency\Tif3d G&fdT

B) Overall efficiency\dHY q&dl

C) Indicated thermal efficiency\ gfehes yrid germr
D) Volumetric efficiency\dTegRlcd G&rdT

Q 105) Which one of the following event would reduce volumetric efﬁc1ency of a vertical compression ignition

engmeQ\mﬁﬁaﬁquQWgﬁmwmm WﬁEE&Wﬁwzﬂ?ﬁ%‘?

A) Inlet valve closing before bottom dead center during suction stroke\¥aR[ FAd & IHI W §icH 88 Jex I
U S0 9Ted 9 BIT 8

B) Inlet valve closing after bottom dead center\SICH TS Yer & d1G SIC aled &G gl

C) Inlet valve opening before top dead center\€lJ 38 e I Ugcl d1C dled G-I

D) Exhaust valve closing after top dead center\e1J T8 HeR & TG Q”\_rlvm dled §g Eﬁ:ﬂ

Q 106) The clamping force on the linings of a single-plate clutch is given by a \ Rid-wie &= &t

TR ERTER,  Fgrifameai

A) Diaphragm spring\STIHTH 5]

B) Pneumatic cylinder\w Ravex

C) Hydraulic cylinder \ EE@W Ry
D) Single helical spring\ﬁi"lﬁ gfea f&im

Q 107) The gears ina constant Mash Gear box have teeth,which are inclined to the shaft axis. This type of gear is

called ﬁmﬁwwﬁﬁﬁ%aﬁw%&r&l%wuwwsﬁ%ww%
& W‘é‘r%

A) Helical\gfaid@
B) Bevel\§ad

C) Spur\¥ux

D) Worm\@H

% 108) Which of the following troubles arise in the gear box? \ fFafafed & 3 o9 3 gawr R afew § ot
N

A) Difficulty in shifting gears\w Pt fRrfte & w318 g
B) Jumping out gears\TT BT STER ST HR ST
C) Lubricant leakage\ﬁﬁaa_cf il g

D) All of these\d Tt

Q 109) The housing of the torque converter is bolted with .\ CTdh HTaeR DI B'IEﬁI"T P & 1Y
Sree fora ST 81

A) Flywhee \GTS &1l



B) Crankshaft\Shah g0
C) Cylinder\RIQiUSR
D) Piston\fUeA

Q 110) The main function of an Universal Joint is . \qﬁaﬁ?—r Sigc &1 qJ7 Eap gl

A) Allow variation of angle between main shaft and propeller shaft \ T MY 3R TIOTR AT & oiF HI0T &
EENEI

B) Change the speed of rotation of main shaft \ T TUE Bt ‘QTI%[ P! T B ggaT

C) Accommodate the change in length of propeller shaft \ UTUeR TMUE &1 EWI_S; P TG

D) transfer engine power in a straight line only \ §oI- P IR DI Had ieh a1 4 CIH HIAT

Q 111) The central portion of a propeller shaft is made from a .\ TITUER 20 & @E\T’[ URT &I
S ST STl 31

A) Steel tube\ ¥ Tdl I

B) Gun metal shaft\7T- Hed AU
() Steel shaft T YMTE

D) Cast iron rod\h RS IR RS

Q 112) What type of differential always applies the same amount of torque to each wheel? \ frg UBR @t

T e IR SHI T JHM i Tl 22

A) Open differential\310- fSHR AT

B) Closed differential\ &S fSHRIAA
C) partial differential\OTRITA fSHIRME
D) Full differentia\p <1 fewmRra

Q 113) 4WD stands for \4WD BT HdTd o

A) Four Wheel Drive\®R &d 31%3

B) Four Wheeler Driver\IR @Fﬂ E'Igﬂ?
C) Four Wheel Drum\®R &d SH

D) Four White Driver\hR GIE sréa?

Q 114) The purpose of tyre rotation on automobiles is to A\ SR | TR ACTH BT 3%5@
BT gl

A) Equalize wear\[RIITGC U THM g ol
B) Avoid ply separation\@l'l_sc ST g I AT
C) Get better ride\3(@] TART U HRAT

D) Reduce wear\RITaC B HH BT

Q 115) The purpose of a brake is to A\ S @ 3%523 BT sl
A) Converting Kinetic Energy to Heat Energy\ A Sl B HEAT STl H dGaT
B) Store energy\BTrl’f B! JURd BT

C) change friction to heat O 1 ST & FEarHT
D) Convert heat energy to kinetic energy \ SHCHI 3ol I fas Sl § sgan

Q 116) The brake lining consists mainly of A\ S g o H@IW@ M 8 B
A) Asbestos\ TR

B) Copper\WIvW
C) Cast iron\PRC TR

D) Aluminium\QF{PﬂﬁW

Q 117) The operation of removing trapped air from hydraulic braking system is known as . \m

ST Riked & ¥ THA g3 591 B! (HabTa arel SHTIRRH & FEd 8l

A) Bleeding\&If&T

B) Tapping\cfU

C) Pressurizing\ﬁqmgﬁm
D) Clearing \&IINIT

Q 118) In generally, in all vehicles parking or hand brakes are type of \ TR gaft arget & urfd
ARSIH__ UBR P12l



A) Mechanical\ i el

B) Hydraulic\@%@ﬁﬁﬁ

C) Vacuum\

D) Air operated\UIR RS

Q119) W%ich of the following is not a component of air conditioning?\ﬁgmﬁ AApHA TR SR BT
YTk gl 87

A) Governor\TTa=iR

B) Compressor\ao_l:a@?

0) Receiver-dryer\ﬁ?ﬁﬁ?-w
D) expansion valve\fa¥dR dTed

Q 120) The most commonly used supplementary restraint system (SRS) component is AT IS

ST frar oA aTdl It ReeT Rer SRy oess . g

A) Air bag\TTR &1
B) Seat belt e de
C) Brake 5

D) Steering\@uﬁ"'[

Q 121) A collapsible steering column is one which collapses to A\ PAfed Waia oiad 98 8 S
RG]

A) Improve safety for driver\dIcIdh CANRIY Rt | JUrR ALY

B) Damp out road vibrations\3TS 1 BT b1 dR-R JATT HH & ﬁ‘l’q

C) Simplify its removal for repair \ HXFHd & fou I FApTaT WRa a1 & fog

D) Provide adjustment of the steering wheel \ e FE?'F‘I G QS\SNCJ-I'C Ul hH & f%fq

Q 122) The tilting of the front wheels away from the vertical is called A\ The il & Ifea @ W
Eal gl

A) Camber\dhaR

B) Caster\$¥R

C) Toe- in\@l- g9
D) Toe- out\el- 3¢



ILevel 1 Answer key

g:.estion Option 1(\?(l:-estion Option 1(\?(l)l.estion Option 1(3(1)1-esti0n Option 1(\Iz(l)l-estion Option
1 A 31 C 61 B 91 D 121 A
2 D 32 B 62 C 92 A 122 A
3 D 33 B 63 B 93 A
4 C 34 A 64 B 94 A
5 C 35 C 65 D 95 A
6 B 36 B 66 B 96 A
7 C 37 C 67 C 97 A
8 D 38 B 68 A 98 A
9 A 39 C 69 B 99 A
10 B 40 C 70 A 100 A
11 C 41 D 71 A 101 A
12 A 42 A 72 D 102 A
13 C 43 C 73 A 103 C
14 D 44 A 74 A 104 A
15 B 45 C 75 B 105 A
16 B 46 A 76 A 106 A
17 D 47 C 77 A 107 A
18 B 48 D 78 D 108 D
19 D 49 B 79 A 109 A
20 C 50 C 80 A 110 A
21 D 51 B 81 A 111 A
22 D 52 D 82 A 112 A
23 A 53 B 83 A 113 A
24 D 54 B 84 A 114 A
25 B 55 A 85 A 115 A
26 A 56 D 86 A 116 A
27 A 57 B 87 A 117 A
28 A 58 A 88 A 118 A
29 B 59 A 89 D 119 A
30 C 60 C 90 A 120 A

Motor Mechanic Vehicle Level 2




Q 1) Figure below shows an exhaust valve filled with a material indicated by arrow A . What is this material? /

I 3T H T WS dTed &) AR A SiisI T8 S A A ST T g | g8 AeRuad s arg 2 A

ks e

=]

A) Calcium / SfeRTH
B) Sodium / HifeaH

C) Silicon / Rifer

D) Potassium / gy

Q 2) Figure below shows fuel tank of a vehicle. What purpose is served by baffles? / i 3 H At &1 _ﬁc?Ff

o feramaT TN § | A A 1 W1 S RIBIATS 2

PPTT L e N §

L B X ——
— ==

A) Strengthen the fuel tank / g ekl Holgd T

B) Facilitate reduction in consumption of fuel / _sc?Ff & GUd | HH AT
C) Reduce surging of fuel / YT & IUR T HH @

D) Retain fuel conveniently / ﬁﬁw g‘iFf CAERIESCRI]

Q 3) Figure below shows 3 of the 7 QC tools. Name them from left to right. / RIEEIRCR: N aq&ﬁ ORI 3
foarn g | SR @ g 39 A 9T |

A) Cause and Effect Diagram; Check Sheet; Pareto Diagram / ®RU[ 3R UHTT STIUTH ;S e ; el S
B) Process Flow Chart; Scatter Diagram; Control Charts / T ual Zﬂé; TR EIRPIEN Herd e
C) Cause and Effect Diagram; Scatter Diagram; Control Charts / ®RUI 3R YHTT SUTH ; % EIRVILH

D) Control Charts; Scatter Diagram; Histogram / Wgﬁa e ;@’??W ; %E PIL|

Q 4) What is NOT true about the diagram shown in figure given below? /- 3T T e T SUH & dR
AR T 6 2

A) It is PV diagram /T R S B |

B) It represents Otto cycle / g 31eT I P FdTdl % I

C) V¢ means clearance volume / ot A 1 e TR Eﬁ?ﬂ}f %

D) Ve is the cylinder volume at end of induction stroke / CIRSIERENE] W & 3fad ﬁﬁ%’ﬂ%ﬁ Tﬁ?ﬂ}? % |

Q 5) Overhead camshaft is driven by .................. / RES IHRMGC DT . ..., FREINGAERIRSIG % I

A) Direct helical gear drive / A9 gfcrerd R gld

B) Idler gear of gear drive / R glkd P AZSR AR

C) Flat belt drive / TIC ST S12d

D) Toothed non-stretch drive belt / SidGR A a4 arad gikd I

Q 6) The cubic capacity of an engine is given to be 1.6 litre. It means ........ / U o9 B1 U &I 1.6 diex faar
TR | 3P §

A) Volume of one cylinder is 1.6 litre / Teh fTISR T AT 1.6 AR IS |
B) Total volume of all cylinders is 1.6 litre /et ffereR PP YA 1.6 e Bl g |
C) Lubricating oil capacity is 1.6 litre / Wﬁﬂ 31T &I 1.6 TR % I



D) Cooling water circulated is 1.6 litre / minute / &ST U &7 IREERYT 1.6 Tiex/ e gran g |

Q 7) What is the type of piston shown in figure given below? /) ema o {5 YR o1 fove faman man g 2

LU

A) Piston with concave head / 3ddd oY & 1Y fore
B) Piston with cavity head / faaR =i & 1y foe

C) Piston with domed head / T[H& i & Ty favet
D) Piston with flat head / TUTC Y & T1Y foRe

% 8) Due to turbocharger, air intake in an engine ............ / TRETOR & HRUISSH A SAT HTTAR . ............
I

A) Increases / Sedl

B) Decreases / 9cdl

C) Remains the same / JHI Xgdl % |

D) Gets mixed with exhaust gas / Q’GVW T & 91y e Srdn % |

Q 9) During battery discharge, electrolyte is compensated by adding ........... / S8 & fewarst & R -,
foqgasac s afagfd. ..., SR BT ST THA R |

A) Lead peroxide / das ﬁlﬁm

B) Lead sulphate / TS Tthe

C) Distilled water / 3T{d ST

D) Sulphuric acid / SRR 3

Q 10) Which of these DOES NOT help extend the life of tyres of your vehicle? / g & F1 3% a8 & TRR
DI 3G TG F YgIdT e HRaT g ?

A) Regularly checking and adjusting tyre pressure to recommended level / CTUX & a9 & Hafld © U 3 A"
T TR TR R GHRI AT

B) Tyre rotation / CIUX D1 3G dgall

C) Checking tread of tyres with penny test / Ut C%¢ T TRR & Ia- P ofid &Rl |

D) Wheel alignment / Ufean &1 W STl

Q 11) Figure below shows two positions of clutches. Identify these positions of clutch. / REEIRCE RSB ]

S fozars it 81 39 ol &) R ST uge 1 A B

cluteh

ciutch disk

T T T T
TSR INaRRRRRRaERIRILIN

A) A - Engaged; B - Disengaged / A - Y ; B - 3{HaY
B) A - Disengaged; B - Engaged / A - 3T ; B - Had
C) A and B both engaged / A 3R B Gl Sy

D) A and B both disengaged / A 3R B GHI Ay

Q 12) Identify the drive shown in figure given below. / A IRE H %q RILSSIED Gl tIE?ﬂe[

A) Torque tube drive / AD Yd

B) Hotchkiss drive / E’Tﬂm gikd

C) Universal drive / Z{1a9d $13d

D) Constant velocity drive / e o SIEE



Q 13) What is true about the component marked A in figure given below? / T W H A ¥ fafgd gcd & IR
TRTIAG? A

A) It is slip joint and it increase or decreases length of propeller shaft / g &g sarge g 3R U8 UIUeR MU &
TS 1 9T A1 SET WHAT © |

B) It is slip joint and it strengths propeller shaft / g &g warge ? 3R T8 NIUeR U0 & Haq_g IS |

C) It is universal joint and it increases or decreases length of propeller shaft / g qﬁaﬁa

TR YU & aTs B! gel I 9¢1 JHhdT g |

D) It is% universal joint and it strengthens propeller shaft / & {ﬁaﬁﬂ Sagc % 3R g IR M B Holdd
CRIGIEN

Q 14) Which additve prevents formation of gum while petrol is in storage? / SId ﬁ‘@f«r B YSRA B & AP
1 I T 9 I Al § 2

A) Metal deactivators / Aed %’Q’W

B) Oxidation inhibitors / 3{TGRITHRUT SRITEC
C) Ice resistors / 3T IR

D) Rust resistors / T R

Q 15) Torsion bar shown in figure below, is made of ................ /e G TN eRAER .. ......... CACkI

B |

A) Cast iron / aIdl GIE

B) Steel / ST
Q) Alloy steel / 1% SHdTd

D) H.S.S/UI THTH
Q 16) What is NOT true about CVT? /S dt A F IR T R I 6 8 2

A) It does not make use of gears / Ug R w1y T Hrarg |

B) It has two pulleys connected by belt or chain / sﬂﬁ al E?ﬁ gIdT % EICERIERE ST grar % I
C) The diameters of pulleys are variable / g?ﬁ P13 gRad1g gl %

D) It is called Constant Variable Transmission / 3@ foad TR Ry Eb??f % |

Q 17) In the joint shown below, what is the part marked ¢ called as? &) fexg U T Sdlsc Hed ﬁﬁ%—d e &l
T HEAR ?

A) Trunion / =g
B) Bearing /

C) Spider / TS
D) Yoke / qH

Q 18) The adjustment for backlash in a differential is provided between .......... / favies & S BT JHEISH .
......... & S fFaramar® |

A) Crown wheel and sun gear / P13 D 3R T R

B) Sun gear and planet gear / T R 3R whe R

C) Crown wheel and drive pinion / P13 T 3R ISIEL) fOfg
D) Crown wheel and planet gear / 13- I 3R wHe R

Q 19) What degree of unsprung weight is desirable in suspension system to make it comfortable? / JuYE ey

H framr ST 3F=rT YR aie-1a BiaT § dii 39 3RTAGIS ST off b 2



A) Lowest / J1dH
B) Medium / H&IH

C) Highest / 3=dH
D) Optimal / TZdH

Q 20) The camber shown in figure given below is .............. /R 3T o {5 YR 1 e fzamar % I

Camber
A) Positive camber / LIEIEEEZSR
B) Zero camber / SR R

C) Negative camber / Jfeq PR
D) Can t say / Tg] @8 A&

Q 21) With respect to figures on left and right shown below, it is said that / BIECICEIN E'Tﬁ <@ U 3T &
it H o1 ol bl ¢

il
Feont

A) Left - Toe in; Right - Toe out/aﬁ-agﬁ Wm,a’rﬁr-a's‘aﬁwm
B) Left - Toe out; Right - Toe in/aﬁ-aéﬁwm;aﬁ-a%ﬁ 3R BT
C) Left - Toe in; Right-Toein/aﬁ-aéaﬁ&mm;aﬁ-aéaﬁamm

D) Left - Toe out; Right Toe out/aﬁ-aéﬁwm;aﬁ-ﬁ%$wm

Q 22) A vehicle s tyres show excessive tyre wear to one side of the tyre tread. A possible cause is .... / dlg DI

TR TR & U R A forgrae fe@rdr g | 391 IHIfdd dRur g

A) Worn out steering knuckle / TR A% d &I forr g
B) Incorrect caster / TTAId PR

C) Incorrect camber / 7TeTd IR

D) Improper inflated tyres / 3‘|'lIUf Bdl HRI R

Q 23) Which of these is NOT true about common rail diesel injection (CRDI) system? / P Sod EWFT
(TSR M) FIN AR II TR 8 2

A) Increased performance / Hq@ e

B) Reduced fuel consumption / g7 é‘L’FT qud

C) Less exhaust and emissions / PH L,‘\SINC 3?[? do&hﬂﬂ
D) More running engine noise / AP T S5 TR

Q 24) What is NOT true about electronic fuel injection shown in figure below? / I e o a@llQ Ry
OB & IR H T I Te1 & 2

A) It consists of rotating valve or butterfly / Eﬂﬁ qpﬁtﬂ?q' 3R W’Ig Eﬁﬁ % |

B) Electronically controlled injector delivers fuel / $Q'10kill"1 ol GbCIC'S $U1<1CQ Wd ASTar %

C) A sensor provides information about quantity of air required and fuel delivery / 3ufe ag P HET 3R W
fecliadl & TR T FR G TS |

D) It requires a special type of carburetor / 3@ a9 ypR &1 W CHRSESIG Bﬁ?ﬁ % I

Q 25) An engine s exhaust is white gray coloured. What causes this condition? / $51 T TTSIeC BT T qhe I %
| 7 R frg FRUABaTR 2

A) Oil burning in combustion chamber / &8 R A 3{Tad BT ST
B) Excessive fuel burning in combustion chamber / Gg-1 R T 3fds YT BT ST



C) Rich fuel mixture / %‘&F‘T EEURE] E?Fﬂ
D) Coolant burning in combustion chamber / G&-1 SR T y=fa &1 S

Q 26) Inlet valve opens before piston has reached TDC and exhaust valve opens before piston has reached BDC.

This i called .... /T0%eT & TSIl UgeH & Ugdl gTdie dled Gefdl ¢ 3R O & S uge d ugd
TR dTed GadT § | 58 Hga &

A) Valve overlap / dled iRy
B) Valve lead / dTcd il
C) Valve lag / dled Sul

D) None of these / ikl aﬂ‘s‘ 8l

Q 27) It is a gear arrangement that permits the axles to turn at different speeds (e.g. When turning). What is it? /

g IR &1 SIa=T gicit & o TaTd &l i A IR gHA (T e dRd 8 ) Sl o | T 1| 2

A) Accelerator / <X
B) Retarder/ G

C) Differential / fdWg®
D) Damper / 3{dHcdh

Q 28) An instrument, which is used to obtain p-V diagram of an engine, is called A Ws'?gﬂ?,

T IPT TN U S5 T p-V STHITH U B & ord foam ST 8, &1 HEd ol
A) Indicator\é%éﬁ?

B) Dial gauge\STId TIo1
C) Snap gauge\@qﬁﬁf

D) Feeler gauge\w ™~

Q 29) In which one of the following types of cylinder head, the inlet valve arranged in cylinder head and the

exhaust valve in the cylinder block? \ frufafea & T frg R & RdsR %_6' ﬁ, 3_"[@?_' ared s %3' 73R
Ridier sl H TeIRe dTed

A) F- head\UP- 88

B) L- head Ud- 88

C) I- head\31TS- €8S
D) T- head\l- %3

Q 30) In a variable valve timing \aRued ared egfE o 1

A) Inlet valve - opens just before T.D.C. and closes well past B.D.C. \ gqIC aled- LS ¥ QhET U
Gadr g SR ol .. & HTH! a1 < BT 8

B) Ingt valve - opens at B.D.C. and closes at T.D.C.\ gl dTed- o181 I) RENGI % IRAZ A Ra<
gra

C) Exhaust valve - opens at T.D.C. and closes at B.D.C.\UWSIRC dTed- 18191 | RENGIE % IRATH wa<

glarg
D) Exhaust valve - opens at T.D.C. and also opens at B.D.C.\UWINE dTed- &1 319 W oldl % IRAIH W

W gaar g
Q 31) Why oil bath type air cleaner is filled with 0il A&} A& A THR TR FATR ad I U § ?

A) To prevent dust and dirt from atmosphere\aTgHS A ] ﬁ@cf 3R Yd DI A b oy
B) To lubricate\?:ﬂa% FRAD %I'Q

C) To pressurise\a'Q'ITIETrf PP m

D) To accelerate\Tfdl aaﬁ & forg

Q 32) Which one of the following statements is not true about Supercharging? \Wﬁrﬁ[ & IR ¥ fFofafaa &
Y HH-I1 HYF g1 Tel o7

A) It decreases pressure of air below atmospheric pressure \ Ig gdIl & URR DI aTgn:c:Eﬁq UYR § 9 gerdr g
B) It increases pressure of air above atmospheric pressure \ g gdl & TSR DI aTﬂ'CISFﬁ'q TR I W deldl %

O) It increases the quantity of air intake \ g TR _&r'_‘f% Cak: eIl deldl %
D) It helps to develop more power \ I8 3T TTeR P! fAHRIT B T YA gidl §

Q 33) The exhaust manifold in small diesel engines is made of \BI¢ Sod goH o Q‘GVE
AP &1 o1 gl 8l

A) Cast iron\PRC AR



B) Brass\siT{

C) Aluminium\UegHI-aq

D) Copper\le'CR

Q 34) A three -way catalytic converter \TS AR Befdfed Haac I

A) Removes CO, HC, and NO2 from the exhaust gasses passing through it\ CO, HC, 3R NO2 B 3?% e
TR Tl Teile 141 § §er §

B) Recirculates exhaust gasses\ Telre ) Y W_C’ HRAT
C) Burns fuel vapour gasses\ _5;?4:[ TS T} Y Srar %
D) Increases N2, H20, and CO2 emission levels\N2, H20 3R 02 IS P TR B deldl %

Q 35) Petrol filter is connected with fuel pipe A\ ﬁ'@a W, %f‘c'F-f CIEE & 1Y
SRR

A) Between petrol tank and fuel pump\aaa TP 3R YT UU & Y

B) Between the fuel pump and the carburettor\ éﬂ‘f T 3R HTI@?T & A
C) Between carburettor and cylinder\aﬂ@?? 3R Rdiex & A

D) Between carburettor and crankcase\?ﬂw 3R FHHdHy & e

Q 36) Choke in carburettor is often used when the engine .\EI'TIT@?T o e o1 UGN U: a9 foar Srar
RSCESE] I

A) Cold start PITE I HRAT BT

B) Idling\3TSS oM B G181

C) Running on high speed\3= s R ad el Eﬁ
D) Hot start\B1C TTC BT 8l

Q 37) In an engine, which of the following is the correct path for flow of petrol?\Uch oI O, Fafafea & 9 DA
1 T Ui & 951d HT Tg! Il 87

A) Tank — filter — pump — carburettor — cylinder\% - flheey »UU - W —fde
B) Tank — pump — filter — carburettor — cylinder\% — 07 - flheer - SRR
C) Pump — filter — tank — carburettor — cylinder\Ud — fheer — ¢ — —fder
D) Carburator — filter — pump — tank — cylinder\m - fheer -0 - ¢ -Rcisr

Q38) %Vhich one of the following drives the fuel feed pump?\FHIRIT H ¥ B T oM WIS 4T B 3189
AT 82

A)F.IP. camshaft\w.\?ﬂg o). HHU
B) Engine flywheel\SGl

C) timing gears\agﬁm R

D) Engine crankshaft\ §o L

Q 39) Which one of the following is not desirable properties of a lubricant?\[HfIRad & ¥ & 41 HED Bl
CIERIBEIUEHEH

A) Should have low boiling point\ EU-d HH BT ATET
B) Viscosity should not change with change in temperature \ dTHHI T uRad= ¥ Taar § 9gard gt ST

C) Should be corrosion resistant\ H&RUT gfeRieht g1 iR
D) Should not develop foam\W1H fAHId '_-|_Eﬁ m g %Q

Q 40) From the oil pump the oil goes directly to \3ffgd U @, g e GCASIGI %I

A) Oil filter\3{T3d flheex
B) Oil gallery\3{TSd TRt
C) Main bearings\ﬂT‘f foafar
D) Oil Steiner\3T3d LR

Q 41) The oil pressure in the lubrication system has exceeded the set limit. Through which one of the following

component returns the oil to the sump?\wmﬁaﬁﬁmﬁfaﬁgmmﬁa?{W%l fafafea d
A e 7 A

A) Pressure relief valve\ SR Refi ared
B) Bypass Valve\a'lg'qm dled
C) Oil cooler\3HIF H R



D) Pressure gauge\w KIS

Q 42) What is %he purpose of adding an anti- freeze solution to the coolant"\@_cr R @?IQ'FT CARINE
EaKcl

A) It lowers the freezing point of water \SI¢T T IS Uige &l - Srar %

B) It prevents the coolant from freezing\dg dg(’ld CASEE R RG] %

C) It stops the formation of ice in the radlator\q_s'm T §% 99 I Abdl %

D) It a\émds seizure the engine due to ice in the water jacket\dg dIc} e § 9% & HRUT ERE| CARTEE
CEIGN

Q 43) Correct mixture of anti-freeze and water in hot climate area is NTRH ggfaror Q?ﬁ-ﬂ”ﬁ\_ﬂ 3R
S HT el gy BT gl

A) 50/50
B) 90/10
C) 40/60
D) 70/30

Q 44) The battery is an electrochemical device, which means battery RY-rril Th ﬁ'&fﬁﬂ RGIRIEED
SUBRU R, T o R, qedt |

A) Uses chemical action to provide electricity\ﬁﬁ?ﬁ e &34 o fo1e A fohdm &1 IUTRT dvdl %
B) change chemical energy to mechanical energy\w Sl Bl AAS Sl H ggad! %
C) Has curved plates instead of flat plates \ Tl Wel & I PR @We gt %

D) Does not use an electrolyte \ sﬁa%jrvns‘d BT IUTNT gl gl

Q 45) The i_nstrument used to check specific gravity of acid in a battery is \Th St o Qﬁl@' & ﬁﬁm
TS DI i B3 & [ YT {1 S arar SUHRT gl

A) Hydrometer\® 33 iex

B) Hygrometer\
C) Anemometer\

D) Multi-meter\Hee IHICR

Q 46) The output of an alternator is controlled by \TH 3R & 3{13cyc Eal gRT
fifa foan ST g1

A) Current regulator\w Q‘. LR
B) Voltage regulator\m AR
C) Cut- out relay\ec-3{I3< o

D) All of these\d T+

Q 47) The distributor is used to distribute the high voltage surges from the ignition coil to the spark plugs. The
distributor cap has segments around its circumference equal to A %@j@@? P UANT, SRIRE H18a
T WS W d% I diecal

A) The number of engine cylinders\ §I Rciex o1 ¥

B) Half the number of engine cylinders\ 19 Rcier @t T &1 s

C) Double the number of engine cylinders\goi Rciex @1 G= &t E-TT-H

D) Four times the number of engine cylinders\§ol- Rcier 3t Y= &1 IR RIGII

Q 48) The type of wipers used in present day vehicles are operated ~ \3{TS[h] & aTe-l H TN g ard
CIERNCT] REINGAERINIGIN!

A) Electrically\ga'@ab_cﬁ

B) Pneumatically\

C) Hydraulically\

D) By Vacuum\a?ﬂ:q GRI

Q 49) When the horn button is pressed then the current flows from to the horn\SI§ Bﬁ 9 qdidr
STl g g d Hc valfed elaT |

A) Battery\aaﬂ

B) Starter\%TeY

C) Dynamo\@'ltlﬁth

D) Horn button\B'\I':f dcd



Q 50) In electronic fuel injection, there is improvement in the efficiency due to comparatively
less resistance in the intake manifolds which will cause less pressure losses. \3@% Ecil:f EQW ff, 33%&3

H oD ST D
A) Volumetric\a\l%q?aféaf

B) Mechanical B d
0) Overal\3TER3ATA

D) Thermal\ Y

Q 51) In MPFI-Electronic Control System, the sensor sends information about the engine

speed.\MPFI- HaaREen s, JWIOH I S aR § BRI AR

A) lgnition\%ﬁl'ﬂ:f
B) Speed T8

C) Air-flow\TIR- Tal
D) Air-mass\UIR-HY

Q 52) Common Ra%il Diesel Injection (CRDI) system is A\ DI X SIold SotaR (CRDI) JorTet
I

A) Airless inj ection\m Eﬁfﬁ'ﬁ

B) Air injection\UaR $

C) Airless and air injection both\m GhT TR W ?ﬂ:ﬁ

D) Neither Airless nor air injection\- ar m AR é:f TR 3@338:[

Q 53) The power developed by an engine at the output shaft is called AS{T3CYC RMUC IR UD ESEER
cal HET A =

A) brake power\% Trar

B) indicated power\g‘%ﬁ_&;’ qra}

C) mean effective pressure\jzﬂ:[ S'W TR
D) Volumetric efficiency\alegHfcd GardT

Q 54) The device, which is used to measure the brake power of an engine is called AR D 9P UlaR DI

AT ¥ T Tl v Tt & are o 5 ol
A) Dynamometer\mﬁa

B) Indicator\
C) Torque wrench\@Td ¥4
D) Energy- meter\Toil- Hiex

Q 55) Which transmission unit dlsengages the drive and provides a smooth take up of the drive ? \ o
TR e ST &I g IRl § 3R S13d & TY TH3AT UG PRl § 2

A) Clutch\aeTd
B) Gear box\TIR ST

C) Final drive\WhIgd gIgd
D) Differential fSTR AW

Q 56) Most vehicles having automatic transmission connect the engine to the gear box by means of a A

TEIfeId CPRE aTd fYSiIaed W1 Y ol &l IR aray 9 oied &

A) Fluid clutch\U[g S &I

B) Dog clutch\S1 &g

C) Dry friction clutch\ ?;'I_sc [EEREENE]
D) Wet friction clutch\ Jc fihaRH e

Q 57) One of the reasons for providing a gear box is to overcome one of the drawbacks of I.C. engine, namely

the .\ TTER SToT M &7 T HRUTEIAT 8, L.C.5H BI Th HH! Bl g BT, off gl

A) Low torque at low speed\ﬁf e W dl el
B) High torque at low speed\?‘ﬁ e W Eﬂg elh
C) Low power at high speed\ B8 Wi Wl Ui
D) High power at low speed\?‘ﬁ e W _Eﬂé BICH

Q 58) Which of the following are the basic components of continuous variable transmission? \Fofafea v 9



P I AR TRadeid e & g ued 82

A) High power metal or rubber belt N ERIERS YT YTISR G
B) Variable input driving pulley \éﬂua?r ERL @Eﬁ'ﬂ g?ﬁ

C) Output driven pulley \ 3T3cYc
D) All of these\d Tt

Q 59) To take care of the difference in the driving angle as the rear axle moves up and down, the propeller shaft

has one ormore_joints.\WW%Wﬁm@ﬁﬁmmﬁ@ﬁaﬁmﬁw
& forg, MUeR =MUe § Uep 1 31y

A) Universal joint\m Sisc
B) Slip joint\[&U Siige

C) Elbow joint\Tedl! Sifgc

D) Release joint\ﬁ?ﬁ\_ﬂ GrTs‘c'

Q 60) Which of the following types of rear axles are used on trucks? \ fFofofed @ 9 g UeR & ReaR wara
TH! B TN il ofTd 87

A) Fully floating axle\g_?_c‘ﬁ AT Tod

B) Semi-floating axle\JHI-TAIfET TR

C) Three- quarter floating axle\2- TR TAIfT T
D) None of these\_i"_'lﬁ I aﬁ% 7‘|€[

Q 61) The function of a shackle with a leaf spring is N\ BRI e gl AHd BT
Fd g gl

A) Allow spring length to change\ B &t T’IWI% §ad ol

B) Allow pivoting of spring end\ & & RR @t fafen Eﬁ Gol|
C) Control sideway\ﬂ'lg_s% A mﬁ DAl

D) Control rear torque\w el Bl EFUaFf DAl

Q 62) The shock absorbers used in modern cars are A\ Hied BRI vanT fd 9H a1dt 2
Leuich] gId Bl

A) Telescopic type\mﬁa? GIEE)
B) Solid type\|ITers T8y

0) Rigid type\RfSTS ergu

D) Hinge type\%ﬁf GIER)

Q 63) Rotary motion of the steering wheel is converted to a reciprocating motion by the A\ R

D B A AT B F GRIIRNG T O B Seadr el

A) steering box\ TR T
B) Track rod\¢ IS

C) Track ann\%}ﬁ 3T

D) Stub axle\¥Cd UaHdT

Q 64) Variable transmission ratio can be achieved in case of .\ dRuEd gﬂm STUTd
 UT T o el 81

A) Worm and roller steering gear \ g 3R AR T iR
B) Rack and pinion steering gear \ X 3R fafae Wi R
C) Worm and Sector steering gear \ I 3R Yoex T iR
D) Worm and nut steering gear \ H 3R e W iR

Q 65) What is the main advantage of anti-lock braking system? \ AP sfh Req & O dH =T %‘?

A) It allows you to steer while braking \ Ug ST B TR SMUDT WHR B a1 §
B) It allows you to stop easier\dg D! M F Ap ST g

C) It prevents locking\Ug qAlP T8 8H adl %

D) It makes locking casier\STY TITHIT T B St ?

Q 66) What does ventilation mean with reference to automotive air conditioning?\&ﬂaﬁﬁa TR S ST &
T 7 fecrer &1 o Taa 82

A) Allowing fresh air through the passenger compartment to replace the impure air \ e HEcHe 3R &dl



I FEa AR ITP R H drelt §ar oI ST

B) Making fresh air\?‘lﬁﬁ REICRIGIHE

C) Keep the passenger compartment clean\TTE HHTENE HI TP ]G
D) All of these\d Tt

Q 67) Which refrigerant is used in automotive air conditioning? \ eI TR Ha - o DI 91 YhoRe
TN f3 T SITer 8

A)R134a\R134a

B) Ammonia\ AT

C) Carbon dioxide\®BTe STZHRIZS
D) Brine\dlIg-

Q 68) Which of the following troubles arise in the air conditioning system?\ fAgferiad @ 9 TR dreixifi
Ren H o ot gwe o 82

A) Compressor not engaging\m BNV f-h:lT

B) Defective compressor clutch\ a'ml”f HUR aeTd

C) Defective compressor clutch relay\w HUMR Fad o
D) All of these\d Tt



ILevel 2 Answer key

Question No. | Option Question No. | Option Question No. | Option
1 B 31 A 61 A
2 C 32 A 62 A
3 C 33 A 63 A
4 D 34 A 64 B
5 D 35 A 65 A
6 B 36 A 66 A
7 B 37 A 67 A
8 A 38 A 68 D
9 C 39 A

10 C 40 A

11 B 41 A

12 B 42 A

13 A 43 D

14 B 44 A

15 B 45 A

16 D 46 B

17 C 47 A

18 C 48 A

19 49 A

20 C 50 A

21 A 51 B

22 C 52 A

23 D 53 A

24 D 54 A

25 D 55 A

26 B 56 A

27 C 57 A

28 A 58 D

29 A 59 A

30 A 60 A




